CMSC 421 0101 QUIZ 2
(15 Minutes)

1. State the condition (if any) that can cause blocking when using a finite length buffer for the following:

a. Producer (writer)

b. Consumer (reader)

a) queue is full
b) queue is empty

2. For the following events, what state is the process moved from AND to:

a. Time slice expired

b. I/O call

a) Executing to ready
b) Executing to waiting

3. Briefly describe the function of the following:

a. Instruction Pointer (a.k.a. Program Counter)

b. Stack Pointer

a) Points to the next instruction to execute

b) Points to the running process’ stack in memory

NOTE: Appropriate answer lengths

1. Single sentence

2. 2 words for each part

3. 1 or 2 sentences each part
